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7.3A – 2 (S)									    				five -19.8
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7.4C – 2 (S)						 	   							eight Z
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7.4E – 3 (S.)							   							eleven W
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7.5A – 3 (S.)							   						fourteen X
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7.5B– 3 (S.)							   						fifteen X
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7.6A – 1 (S.)							   						sixteen Y
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7.10B – 2 (S)							 				 	thirty one X
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7.10C – 2 (S)											 		thirty three X
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7.11B – 2 (S)											 			thirty six Y
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7.11C – 3 (S)											 		thirty seven 5
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7.12B – 4 (S)											 		thirty eight Y
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7.13A – 4 (S)												forty  1.92 
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7.13C – 4 (S)										    				forty two Y
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1 A recipe says to use 3 cups of flour to make 48 cookies. What is the constant of
proportionality that relates the number of cookies made, y, to the number of cups of flour
used, x?

A 06

B 48

c3

D

16
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19 The distance between two town:
5 miles.

120 kilometers. There are approximately 8 kilometers in

Which measurement is closest to the number of miles between these two towns?

A 75mi

B
c 192m
D
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4 Quadrilateral KLMN is similar to quadrilateral WXYZ.

K

N M
Which statement about these quadrilaterals must be true?

KL _wz
WX = kN
G Angle NKL is congruent to angle ZWX.
Ko
Yz~ zw
3 Angle NKL is congruent to angle XYZ.
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27 A group of students formed a circle during a game. The circumference of the circle was about
43.96 feet, and the diameter of the circle was 14 feet.

Which expression best represents the value of 77

7
€ H%
b 14
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8 Jack tossed a coin three times. Which tree diagram shows all the possible outcomes of the
coin landing heads up or tails up?

Heads

Heads < Tails

Tails < Heads

Tails <Tai|s
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20 Which number line best represents the solution to the inequality 3.3w -9 > ~22.27
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33 Which situation can be represented by this inequality?
120 < 12k +29

A Felicia has 12 buttons in her collection. She will collect 29 new buttons every year. Felicia
collects buttons for k years. For what values of k will Felicia have at least 120 buttons?

B Felicia has 29 buttons in her collection. She will collect 12 new buttons every year. Felicia
collects buttons for k years. For what values of k will Felicia have at least 120 buttons?

€ Felicia has 29 buttons in her collection. She will collect 12 new buttons every year. Felicia
collects buttons for k years. For what values of k will Felicia have at most 120 buttons?

D Felicia has 12 buttons in her collection. She will collect 29 new buttons every year. Fel
collects buttons for k years. For what values of k will Felicia have at most 120 buttons?
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38 Which equation is true when k

F 3k-11=-34

G -53+4k=7
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12 The sum of the measures of angle M and angle R is 90°.

+ The measure of angle M is (5x + 10)°.
+ The measure of angle R is 55°.

What is the value of x?

Record your answer and fill in the bubbles on your answer document. Be sure to use the
correct place value.
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18 The manager of a mu:

store surveyed a random sample of customers who shop in the store
about their favorite type of music. The table shows the number of customers who selected

Favorite Type of Music

Based on the information in the table, which inference about the favorite type of music of all
the customers who shop in the music store appears to be valid?

They are certain to select rock or pop music.

They are less likely to select country or rap music than rock music.

They are more likely to select country music than jazz, classical, or rap mu:

“ o m

They are certain to select any type of musi

other than jazz music.
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22 The price of a DVD is $24.00 plus 8% sales tax. What is the sales tax on this DVD in dollars
and cents?

Record your answer and fill in the bubbles on your answer document. Be sure to use the
correct place value.
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29 The table shows Peter’s net worth statement. Assets are shown as positive numbers, and
liabilities are shown as negative numbers. The value of Peter’s house is not given.

Net Worth Statement

House (current value)

Checking account
Credit-card debt -$3,400

Automobile (current value) $16,900

Student loans -$16,300

Investments $4,500

Savings account $1,200

Peter’s net worth is $101,800. Based on the information in the table, what s the current value
of Peter's house?

A $58,600
B $78,300
€ $98,000
D $82,100
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37 Which diagram best represents the relationship among integers, rational numbers, and whole
numbers?

Rational

numbers Rational

numbers

Whole
numbers

‘ Rational
numbers

Integers

Rational
numbers
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30 What is the value of the expression -9 x 2.2?

Record your answer and fill in the bubbles on your answer document. Be sure to use the
correct place value.
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  7 . 2A   –   1  ( S )                                two   Z    

